Biology 138 Name

Graphing, Metrics, Scientific Notation, Microscope Review

1. Answer the questions below about the following graph:

7 e £C o—C | N AEAS] unt
of &mfﬁq‘w e Mjugﬁm

\@0L Lot <

70
N 4 60 \J

=+ 50 <

1 40
nwiw
120 O

1 10
Lo M

Plant Height (cm) and
Fertilizer (mass in g)

BN WS o
O O O O O O O

1 2 3 4 5 6 7 or
Experimental Group I‘/\ W 014[/
y\,o% Ma\e
|— Fertilizer (mass in g) E=3 Plant Height (cm) Leaf Width (mm) | 7Co
3%’\- Wik \/\/\ VN
a.  What is the independent variable in this experiment? Be carefull How }%u%ow
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b. Whth group (1-7) 1s the control group? How can you tell that it is?

- Mo Lo N er ldded - v

o COoMPERisonHp See QQQQK WM%

c.  What 1s the relationship between the amount of fertilizer applied and the height of
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2. Complete the following problems involving scientific notation:
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a. 4.246x10 =+ 1.123x 10

3.78] x /0%

b. 85x10" x 56x10°
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3. Convert the following metric problems:

2 4255hm=- HL55” damn
b. 000222 Mm - Lo m
¢. 3l5mm=-_ 3. /5 dm

d. 125554pm=- - 125955Y

e. 1124 cm=_- OO”D-L{ km

4. Complete the following problems:
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5. Complete the following problems - answer all questions in scientific notation:

a.

b.

£33x10m=-_2.22x)07" m
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6. Answer the following questions about the microscope:

a.

Explain why the same organism viewed under low power, then under high power,
would appear to move faster under high power.
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‘When do you want to open up the diaphragm to allow more light in - when viewing
objects under scanning power or under high power?
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Which of the objective lenses shows the greatest resolution?
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‘Which of the objective lenses shows the g?ga}fesst depth of field?
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Which of the objective lenses has the largest field of view?
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Which of the focusing knobs must not be used under high power and oil immersion?
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Draw what the letter “F” would look like if viewed under the microscope.
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7. Complete the following diagram:
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8. Answer the following questions regarding measurements made under the microscope:

a. How big is the field of view in the picture below?

2.5 mm

b. Given your answer from part “a”, then how big 1s the microorganism (in um) seen
below under the same microscope as in part a?

9. Read about the different types of microscopes on pages 21 and 22 of your textbook. Then
answer the following questions:

a.  Whatis one disadvantage to using the light microscope? alu/ 7[
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b. What do electron microscopes use to magnify the image of a specimen?

cAe cxrons

c¢. What are the two types of electron mlcroscopesr’ What is the difference between
them? < (A J\s \CCHDN MUK DSOoR - D TR
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d. What is one di%advantage of the electron microscope as compared to the compoun:
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10. Calculate the high power field diameter for a microscope with a low power field diameter
of 2.3 mm. Assume the magnification of all lenses 1s the same as our class scopes. Give
your answer in um.
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